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OBCM/A-20 21018
BUSINESS STATISTICS
Paper-IV
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one and
not more than fwo questions from each unit. All questions
carry equal marks.

AT : TOH THE W W HH W KA Tk AR e W i
A T I B, kA U T & SW S| gl gl
% 3fF TEE 2

UNIT-I (ZhT3-1)

1. Explain different types of diagrams that are used in
presenting statistical data. 16

i el &l TR L | IH=ad §a HoSTH
e el &1 = w1

2. (a) Find the first and third quartile from the following data :

= 9u&i ¥ YoM 9 qdg 9 i UM hINT ¢

Class Interval : | 0-10 | 10-20{20-30 [ 30-40 | 40-50

Frequency  :| 18 15 40 15 12
8

(b) Compute the mean deviation from mean and its
coefficient for the scores of college students : 8
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Scores

CLsSIED)

1| 140-150 | 150-160 [ 160-170)170-180] 180-190| 190-200

Frequency :

(gfa)

3.

()

(b)

(a)

Find out the coefficient of correlation between X and
Y by the method of rank difference. 12

Hfc 3R & fafr g0 X 9 Y & <9 Teasry
ToTish A it

X :[22]24|27|35[21|20(27 | 25| 27] 23

Y :[30]38[40(50(38|25(38 |36/ 41] 32

Write short notes on the probable error. 4

ey faym R g feoo fafam)

Given Xx = 120, Xy = 432, Zxy = 4992, ¥x? = 1392,
Ty? = 18252, N = 12.

Calculate :

(i) Regression Coefficients both.

(i) Regression Equations both.

(iii)) Correlation coefficient in between X and Y. 8

femm gom 2

Sx = 120, Ty = 432, Txy = 4992, Ix? = 1392,
Zy? = 18252, N = 12
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(i) AT TOnR S

(i) A TR FHIRT

(i) X TN Y & WA Tegwr Tuns|

(b) Define the standard error of estimate. How is it

computed ? 8
wed T A% wyfede ) uRwmw i 8 $e
A S22

UNIT-I (3ete-11 )
5. (a) Explain the following terms :

(i) Base shifting.
(i) Splicing.
(iii) Deflating. 6
frefafea sEumomet % T9emET
() ¥R ARl
(i) PrEE|
(iii) sTafemfdl

(b) The annual Income of a worker in rupees along with

price index numbers are given below. Prepare index
numbers for real income of the worker : 10

T HHAN & N @ qel 39 99 H1 HiFd
v frefafed €1 a9t &1 arafas g &
IEESIEIRECAI L
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Year - 11969(1970 [ 19711972 | 1973( 1974 1975
(=)
Income 1200 [ 240 | 350 | 360 | 360 | 370 | 375
(=)
Price Index : | 100 | 160 | 280 | 290 | 300 | 320 | 330
(frszier &1a)

10

6. (a) Define time series. Explain briefly the additive and
multiplicative model of time series. 6

Ied RS w1 o ST erd §iRe & armes
TN TUMCHSE AlSell i S hi

(b) Fit an exponential trend y = abX to the following data :

Estimate the sales for the year 1997.
= O8&l W FdeE 38 &l e HifvT .
1997 o6 & fau fasl &1 AR @Rl

Year 211990 | 19911992 (19931994 | 1995 [ 1996
(=)
Sales (Crores) i 12 10 | 14 | 18 | 20 24 30
(fent) (U W)

10

7. What is a seasonal index ? Explain the different methods of
estimating it. 16

ot g w1 F el ®? THel W & fafae
fofeen Tm=mEY)
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UNIT-III ( 3hT3-111 )

8. (a) Four cards are drawn without replacement. What is the
probability that they all : (i) are king, (ii) have the same
value, (iii) are of heart, (iv) are of different suits. 8

(b) A bag contains 10 green and 5 red balls. A person draws
out 2 balls. If he draws out a green ball he gets Rs. 40
per ball and on red ball he gets Rs. 20 per ball. Find
out his mathematical expectations. 8

(%) fomr gfoeentoa fFa T =R 90 @9 MUl 9 9@ o
F WHR@ ¢ fF 3 9t () IREE §, (i) 99H
qd & €, (i) 99 & ¥, (iv) faf= =l (suits)
& Tl

(@ TF 9 F 10 & R 5 @ 1 T TH A 3
9o # ¥ T W freee #1 9 & MR feen W
g 1T 40 TW SR @ AT fem W 20 T
faord € @ SUl TiodE yeawen W i)

9. (a) Define Binomial distribution. What are its main
properties ? 6

(b) The probability of birth of twin is If there are

1000

2000 births in Banglore in one day. Find the probability
that 2 or more pairs of twins are born.

(Given ¢2 = 0.1353). 10
(%) fgug famo =1 aReafod ®ifNw 39 & o F=0
82

21018//KD/1841 5 [P.T.O.


https://www.kuonline.in

https://www.kuonline.in

<@>wmmﬁma&ﬁ@aw

A fret wk &7 U1 gu 2000 Toema forget § @
A U efr Yedi a=d UK eF ! ARl saigd
(Fam & : 2 = 0.1353)

10. (a) Compare Binomial, Poisson and normal distribution.
6

(b) In a normal distribution, 7% of the items have value
under 35 and 89% of the items have values under 63.
Find the mean and S.D. of the distribution. 10

(%) fgu=, ofg@m den yEm faawor ® gor Sifa)

(@) T O s B 7% Wl H1 god 35 U &9 3R
89% TRl 1 oA 63 W KA T TH WA I HEA
IR yAm fageq 9@ wifu)
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